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Il Semester B.Com. Examination, October/November 2022
(NEP Scheme)
COMMERCE

Paper - 2.1 : Advanced Financial Accounting

Time:272 Hours Max. Marks:60

lnstruction : Answer should be written compulsorily either in English
or in Kannada.

SECTION - A

1. Answer any five sub-questions. Each sub-question carries two marks. (5:12=10)

a) What do you mean by overriding commission ?

b) Write two features of joint venture.

c) What is Minimum Rent ?

d) Mention the methods of calculating purchase consideration.

e) What is proforma invoice ?

f) What is Royalty ?

g) Write any one difference between joint venture and partnership.

SECTION - B

Answer any three questions. Each question carries four marks.

2. Write four ditferences between joint venture and consignment

(3x4=12)

3. A, B and C entered into a joint venture to construct a building. The contract
price is Rs. 1,00,000. A, B and C were invested Rs.40,000, Rs.20,000 and
Rs. 20,000 respectively and a joint bank account was opened. They purchased
materials for Rs. 60,000. 'A' paid architects fees of Rs. 1,000. 'B' paid for
sundry expenses of Rs. 2,000 and 'C' paid for cement expenses of Rs. 4,000.
The contract was duly carried out. All the transactions were done through Joint
Bank A,/c.

You are required to prepare Joint Venture Account when separate set of books
are maintained. They share profits and losses equally.

4. Ahuja Ltd. had taken on lease ol mine on a royalty of Rs. 5 per ton of iron ore
raised with a minimum rent of Rs. 20,000 p.a. and power to recoup short workings
during the first 3 years. The production was as under :

l "tyear : 'l 000 tons, 2nd year : 2400 tons, 3'd year : 4000 tons.
Prepare a royalty analytical table.
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5. Calculate Purchase Consideration from the following details :

a) The purchasing company has agreed to issue 30000 equity shares of
Rs. 10 each at a premium of 1Oo/o.

b) 1000 preference shares of Rs. 100 each at par.

c) 1000, 6% debentures of Rs. 100 each.

d) Pay cash of Rs. 50,000.

6. 'A'consigned 200 kgs of Mango to'B'. The cost being Rs. 50 per kg. 'A' incurred
carriage charges of Bs. 5,000. 2Oo/" of lhe goods consigned were lost in transit
due to accident. Calculate Abnormal Loss.

SECTION - C

Answer any three questions. Each question carries ten marks. (3x10=30)

7. Swathi oil mills of Bombay consigned 10000 kgs of coconut oil to David of
Bangafore on 1-4-2Q21. The cost of oil was Rs. 20 per kg.

The Swathi oil mills paid Rs. 5,000 as freight and insurance. During transit
250 kgs were destroyed for which the insurance company paid Rs. 4,500.
David took a delivery of the consignment on 1OfrApril 2021.David reported that
7500 kgs were sold at Rs. 30 per kg. The expenses being godown rent
Rs.200, advertisement Rs. 1,000 and salesman salary Rs.2,000. David is
entitled to a commission of 3%.

Prepare necessary Ledger Accounts in the books of Consignor when separate
books are maintained.

8. A, B and C entered into a joint venture to share profits and losses in 3 :2: 1.

No separate set of books are maintained. Amount contributed and received by
different venturers are as follows :

Particulars A B C

a) Cost of materials Rs. 20,000 Rs. 25,000 Rs. 5,000

b) Expenses Rs.3,000 Rs.4,000 Rs.7,000

c) Sale proceeds received Rs. 30,000 Rs. 40,000 Rs. 50,000

d) Stock taken over Rs. 2,000 Rs. 3,000 Rs. 5,000

Prepare : a) Memorandum Joint Venture Account.

b) Joint Venture with accounts in the books of all the three venturers.
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9. Dr. Murthy wrote a Financial Accounting and got it published with Kalyani
Publishers. On the terms that royalty will be paid at Rs. 5 per copy sold. Subject
to a minimum rent of Rs. 1 5,000 p.a. with a right to recoupment of shortworkings
over the first 3 years of Royalty agreement. The details are as follows :

Year 2019 2O2O 2021

No. of copies sold 1,500 4,000 5,000

Prepare : a) Minimum Rent fuc.

b) Shortworkings account.

c) Royalty A,/c in the books of Kalyani Publishers.

J

't0. Set out below is the Balance Sheet as on 31-12-2021 of X and Y, who share
Profits and Losses in the ratio of their capitals.

Liabilities Amount Assets Amount
Rs. Rs.

Creditors 55,000 Cash 4,500

Reserve fund 7,000 Debtors 40,000

Capitals : Stock 37,000

X:75,000 Plant 85,000

Y : 50,000 1,25,000 lnvestment 20,500

1,87,000 1,87,000

The firm was sold to a limited company on the following terms :

a) The company was to purchase the whole concern except cash.

b) The creditors were takenover at the book value.

c) The company agreed to pay Rs. 5,000 for goodwill.

d) The purchase price was paid half in cash and half in fully paid shares of the
company.

Calculate Purchase Consideration under Net Assets method and Prepare :

a) Realisation Account.

b) Partners Capital Account.

c) Cash Account.
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1 1. Following is the Balance Sheet of A and B as on 31-03-2021 .

Liabilities Amount Assets Amount

Rs. Rs.

Current Liabilities 30,000 Fixed Assets 1,00,000

General Reserve 36,000 Stock 60,000

Capitals: Debtors 24,000

A = 1,00,000 Bills receivables 20,000

B = 64,000 1,64,000 Cash at Bank 26,000

2,30,000 2,30,(x)0

'P' Ltd. acquired the business on the above date and the terms were :

a) Fixed assets to be valued alaoYo more than the book value.

b) Stock to be valued at 90% of book value.

c) The purchase consideration was to be settled by the issue of 20,000 equity
share of Rs. 10 each and balance in cash.

Pass the Opening Journal Entries and Opening Balance Sheet in the books of
'P',Ltd.

SECTION - D

Answer any one of the following. (1x8=8)

12. Prepare a proforma invoice with imaginary figures.

13. ldentify the areas of business where joint ventures are found.

t{aud$
rFd-o

1 . olndoddo od en:d-${rl9zi wrloa. $3oino& erud-$dnti od6 uodrl$. (5x2=10)

a) t dcfdraons dtud6r6 aodded: ?

b) Eot3 erudrd:d add: {adrrl9d)dudoo)o.
c) dod sDad aoddedb ?

d) $oea dorlsado$dtr e3ay,ad dDdd eeadrlddtr dno:,.

I
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e) dDdo iddr dt"3 oodde$ ?

f) ooJ:Sd ooddeab ?

g) z;c03 wdrd: oadn 
":.,-ae.uoood ddJAaJ o$doaddo z.od: drooriddtr udooJo.

.-, ..\q)at I - c)

ob$oaddo $Ja$ 4,d{i19ri erudoBr. EE €,-d_/i ;neDruodrlq:. (3x4=12)

2. daad Ld",od 6?r!a 230[,3 erDdda$d dd)ad otn$roddn 6rJeDddd@dBrl9d: udogro.

3. 'D', 'a' &e '&' aou aaer:rodd: zrotJ wdr;bd d:nsd lod> ded 6Ed)rDo z.,d,odEo

i& aad:dd:. * d[3.jd EJabrDoo$ ue^u., #el, d,a. 1,00,000. (,drJdn qdd) aotj
difd: a.Ddo$dl ddd; eddr'o' dJa. 40,000, 'zl' dJa. 20,000 dr* 'e' d/a. 20,000

dea dod.:dd:. .add) ddL ddd6"drodR dJa. 60,000 dJDe.rrd ,ddJ sDoeaxbdcb.

'a' ;ourdddJ do. 1,000ddc* d%d ailDdndEdfl radcddc'E' aoar:dddc
dra. 2,000dd{ 'add $?3Jrdgri A:eBO{d:,'a' aoe^pddd,: dio. 4,000dddtr
tud)ol, $z3Fri &Ooiaen$ddJ. dtld OdDrsa fe.:B$ d$fl6d:, t d..,odd douorb
AledoBcDnd. €r eodrlg updd dree3 augoeeod: e{rlgd1 dobolDd &Qadd d:edzi

rrot3 erDd,ab andoS:d1 doJDo:ro. .addJ dde enqraod drdl ddddtr ioBdrDR
doddndqr e."ld.:aod.

! c'J

4. erd:x dod&o3:dd; rlrdn-oodoSJ ru.qri ddodr., €r rd,odd {.,rad *cd: t3or

erueoddo$ d:eej do. Sdod uooj:ddd& gedDr0ierJRd. 6?rioiJe aaard dOdqJ'o(sJ

zDari dra. 20,000 z'l9ri .9edDr0icrJnd ild: vrutr rd6ron{ ud1 &oddod:er: d:od:
ddrdd aodrad &ederrnd* waaddoJ: edd eo8d.

1 ddr : 1000 8d6rl9J,2 ddr : 2400 isdfrl$, 3 ddr :4000 ljofrl$b.

* ado$ii9 uqadd d;edri oaoj:Cd addd$ d{o$d} dolDor,o.

5. * d9dod addrl9 v6add d:edri ooea dorllado$&4 eJddEa6o.

a) rod: sDoeo ioiab dJa. 10 dr)oLJeJo! 30000 EadDdd dedcd$d:n de. 10

getualoIi o(ad.

b) 100 do. &)$deio$ 1000 4,dd) 6-g8{,d de&rl9d}oead.

c) 100 d.o. dDsDdeioo de.6d, 1000 xae.td$rl9d1oead.

d) ddadO_50,000 do.rl$r.

5



6. '.)' ooNddcb 'a' ao?Dddori 200 d.d. dDad dea:n$d1 da'ap,fuoaod. e{dS z3eJ

€,C ddri 50 dnE DobdSJ. 'a' eddr xarocdd $?3rr do. 5,000 rl$di Cotu&6Dd.
udd.addo-de. 20 ddlerdqadaod d{dooa$$d. €r ado$?i9 ereadd d)edli
(,oo$ogd d{dd} do6&aobo.

aldrl - n

ob{aaddo dla& {d"Jl9d EDdo&. d,go:rood 4d4d dd2 erodrl9:. (3x10=30)

7. ooDod 1-4-2021dod: uoor.Jodr ra.rg (Jo$)ef tuefddd) eJorldrrod deaG"ddozi

10000 d.a. d/a?^Io a€o$dtrda?pxrd. €,e E.d. adpJ: eiei dn.20d9r. srdg (,og)e,

tuefdd$ Dnasdea dz{dlQ &d> $d:r ieo dJa. 5,000 d,,obl,d. dnilr $drd0-
xoroeddoJ: i&o$do_250 ddoj:-'o.i: ado!: d{aDnd. erdd adD dodoo3> uddo

€,go3Dn dn. 4,500 i19$4 doEadmn Oead.

1}-4-2}21dod: deaa.ddd: daadoJnd ndd6b4 3&edots) dodd 75oo dao1)d*

"rdprdi 
dJo. 30 dod {,8 ddrl dDo"["] dJaadrcJd. aario3:e wn-gro znBri

d/0. 200, ero&ood: Oz$r dJo. 1,000 d:dl dDoJo3 dDdJddd iorpdd me.:r

. do. 2,000rl9d1ddos)tsJd)ed. .add) ddSfedzl xnd>d, dtudF6 3% ddoirom.d.

€r abeoood dD&cobod daadaadd 4t{ddO_erddradd ejds,or aJDdd$db DdooJo.

8. a, ?,) d)dJ & &rodJ add: r.od: ?iou3 erudddJdO- dladn&drJod: ddgerqDod ild)
ddddl3 : 2 : 1d erd)aaddO-dorsdotfcr: ?-"XOed. qi,dred;srd $iddqdtrdotaond
edcb €r tr0t"3 erud^d)d DdgRd drad odd d:d: .add addddr * dSdcdc8d.'ddj
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Addrlril o ?,)

a) ndd:rl9 dr,fl dro. 20,000 dra. 25,000

b) sD?$Fd$J dJa. 3,000 dra. 4,000

c) dJDoo[id dra,eiedo$drd)d) do. 30,000 dra. 40,000

d) ddd:dood rad: dro. 2,OOO dro. 3,000

d{ odo$dq uqadd d:edri :

a) qdd dg aot^: uudrd:arod

b) d],ocb trd erud,,tudq d{ddO_a;otS wdrd: andobdl udc$o.

Iililltillllil]lllltililililllililffi
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dro. 5,000

dn.7,000

drd. 50,000

dJo. 5,000
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'**ffijljilri fl#Ttr#xiffi
#. ,s,ooone, -i$ij;ietoaoea. 

2oz13 ddrrtsr), qdd aa 
2019 zozo z

11t*r,orun* 
'''uoo 4'ooo u,olL*o.otd 

g{ddo-€r dsdod

dr d>ee'lood ado$rtd *i@dd d:edd d@,fi

ao€rtd&"u:dco:o'
^ -g ^-.C

a) d0dXzOatt dJvv' 
^

b) sa$rdtron{ 505'

I oacs,:Oa aog' - . rr .je. c)dr dodmod du.:"r ds dsdcdocd'

" lx ::?;f$jf:,:&llffis:#I''r#*eo 
qdd e'l

dcdl d:odrJod 6t1", 6)ej o'|\:'v w' 
dJa. e:Ad+i 

^ff;dodroo€rtqr: ss,ooo drtd': dra 
4o,o0o

6c6rtdJ 7,ooo r$c6rtdr 37,ooo

Dreie':r dso xaud:rl€: 
85,000

uodaoS : c$o$ xod:!,

\, o*^ : 75,000 
1,25,000 d,aadd$ 20'500

jr: so'ooo 1,87,000 .1'87'ooo

dl aaeroood nodoS:: rcdc iooJ:rd uodaad nc{zi dl dddcd OucCdrtsocafl

d>oaeaai'lOd:

a) d odCIol> 6rer>6rod nof5cd': De+ e'l IISdJ* sDOe Otud ( ddddtr dcB)Satu)'

b) ds6?r9&4 dd1 droe;tJe3ri ddcdDddJ'

c) dod&olr: *' u'ooo rtsdl$oad: dJDddo-ee&ddr'

d) sooeo ?'3e'ood1nof6o3:: BdJaael ddd; $d; dosor 6)deo$ad 5ed:rtd dnddo-

^ ^q-?$)(!9e"''

I
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11. Ooaodgl_Og_2021 
d

dr^l+ dgndo_gd.

darrrbodri$t)

eDg dJardnDodnsb

nd>d, AJeBe.D

DodilDgdst;

o __ 1,00,000

A = 64,000

d/a. er&dqf)

30,000 &d d$b
dJo.

1,00,000

60,000

-8-

I i::t. odo$zre crqadd airedrr oreu_ood ioi 
llllllflllilffiflirrlrrmffiiirn,

a) aeJeoio &rrd .ctb d;4aaO_ :
b) ater:aaOO uodilJg aJDd a$d-)c) d'ncb aDdo$.b{ U*u*. 

---=

6odo ab* ar ldd6gDrD6dBodo$ 
er1 abq d/adrDod

36,000 ro;iln$t)
Q

1,64,000

'du' tsod I g.l E)erJnD
2,30,ooo

O^ird.f. od do{o$ doda.addab

rb$dst
&edorsDd dJoA

24,000

?iDdo6do# 
Esa

20,000

26,000

2,30,o00
g{ dsdod dderreri ?.gdu)

O
,J0€

a) x6d n'gab aboE ajejo$ de. 20 dai.: d{oq a:norr*oxborrr.

.&d, decbrlgtat:

b) qddb. 9c\) dbros ejcrog de. 90E dJD0redoxb{cb.c) $oeo dogddbq d/a. 1O dr)a)ajejo$ 2O,OOO

d

abd) eJD6o$$ dn'c$ d/oddO_0ecd:Sd:.$ edo$ild eteadd 69s.3 dgdoapd EdFc, dailJocb dbEbdopdnEod dulobdi,&,,o{ob €dddo-udoc)0.

Frl- c

a$dlFgdoqSd (,&

cdDdmddra Loub Bdqri e,Ddo&.

,2. c51d z"dodd:itBrd{dDdo 
ddraddd} golDOAro.

19. uiou, oodrabrlrb dodiiooa dadadd *rgrldq rueFrr $dd Ddobo.

(1x8=t)


